
1. What is importantly required to correct schemes under a public policy? 

(i) Base-line survey (ii) Third Party Assessment (iii) Proper execution (iv) All of these 

Answer: (iv) 

2. What are the reasons for underperformance of schemes under a public policy? 

(i) Improper structure and design of Policy, (ii) Calculation of RoI for sustainability without 

considering local contexts (iii) Underutilization of allocated resources in FYs (iv) Improper 

feasibility studies, (v) All of these 

Answer: (v) 

3. Select a scheme aimed at arresting migration from the rural India: 

(i) MGNREGA (ii) PMAY-G (iii) VCF-for SC and OBC (iv) None of these 

 Answer: (i) 

 


